
RA-14L Lid Kit  

Installation Directions 

The RA-14L Lid Kit is designed to be used on the RA-14 Basket Kit.  Your Basket Kit and Lid Kit 

are already pre-drilled, and hardware is included. 

1. Using the Sixteen 2 3/4” x ¼” screws, attach the hinges to the RA-14L. 

2. Using the Eight 2 ½” x 1/8” screws, attach the lock loops to the RA-14L. 

3. Now lay the Lids with the above attached parts on top of your RA-14.  

4. Using the Sixteen 2: x 1/4” screws, attach the hinges to the RA-14. 

5. Using the Six ¾ x 1/8 screws, attach the hasp to the expanded metal sides of the RA-14.   

6. The hasp is counter-sunk and should be on the outside of the RA-14.  Use the backing 

plate on the inside of the RA-14.  Make sure the hasp is positioned properly to engage 

the lock loop.   

Installation is now complete.    

Screws: 

16 - 2 ¾” x ¼” screws attach hinge to RA-14L 

16 - 2” x ¼” screws attach hinge to RA-14 

8 – 2 ½” x 1/8” screws attach lock loop to RA-14L 

6 – ¾” x 1/8” screws attach hasp to RA-14 

 


